ok 209 K

g i B B E X R =57 R

1 B = A HI]
2 mOAN s T A

(B LR EEXEERIE) -495 (496) -






s
M
b
w
o
ao

Rk 2 9 AR \IETET B I pE XRS5 TR
Rk 2 9 H R \Ei i o B EMEXERISFTOFEIZ, RICED D EZ ALK D,
(AR TH)
F1R BMARETEOREL, BMABHZNEN8 03 THEED D,
2 WA TEORHEOXS K NSRS T 08T, HE1ESARETE] 12X 5b,

V2 92 A 2 7 B

NigEmiR KO — BB

(B B X EERI ) ~497 (498) -






Vivaw

o1& O AR M T A
AN

(HLhr: 1)

K A & #H
1 MPERA 1
1 JpEsE AN 1
2 A% 802
1 e AE 802
P A N 2 803

H R pE KRR 25 - 499 -



- 500 -

(BAZ: 1)

&

803

803

Rt

i

H P pE DCRR I 2

R
@
R

803




Yo 2009 HOE

NwE i A LM EXKFI G PHRICET 28 W F

1 ek AN HH Y B S 1
(1 fi5
2) % A
(3) % t

(B B X EERI ) -501(502) -






1 A A S T - = W 1 G =
(1) #& &
(rsk N) (47 TF9)
1 JHPEIA 1 0.1 5 0.5 Yay/! A80.0
2 MAE 802 99.9 915 99.5 A113 N12.3
% A = & 803 100. 0 920 100. 0 A117 A12.7
H 0 pE X R

- 503 -



H P2 DR Bl 2

- 504 -

(rsk 5)) (¥4 1)
Y B MR N R
df e loxivd 5 s E\d‘ ?JE
% % o7 1E = O
1 BT 803 100. 0 A117| A12.7 803
A s B S 803 100. 0 ALLT| A12.7 803




(2) m A

() LMERA  CR) L MEEEARA (R T
o = A i E/ﬁ =
H K OFE E AT FOE| Kk L1 = N = B E) B
L. Rl B OV 4 4 1 5 A4\ 1. TR+ 1| e ei+ 1
At 1 5 N4

(B L PE X R RIS F) —505—




(B L EERFFRIED)

—506—
&) 2.8AE (B 1E&EAS (87 - )
o ' i . ,
B A F Elm £ E|k 23 = N % P B A
1. EEHAE " 802 915 Al13] 1. E&w s 802| &g A& 802
B 802 915 A113




(3) = H
() 1Rz (IH) 1.a%eme (Bf7 - TH)
*x £ EFE o B E " R 5
B A OERT £ E g 8 & Bt B R ) 2]
EEHeH 5 &[x o m]| " K & 4
1. HEEEHE 803 920 ATl 803 1. e 14| FHEEHE 7 A 106
ZEHE 2 A 28
7. B 153|AFES 153
9. FrE 6|3 @R 6
11. FEH%E 30|JHEEME 10
PREHE 4
EE 16
12. ®REE 266|i8(3 EIRE 2
tRERE 264
13. Ziegl 199 A » SZ&508E 199
14. FERRIEUE 10| B4 Bx) 10
&kt :
19. & B ARAFEMBF RGBS ARE 4
RO & ;
25, fE & 1|H LR ERESHE & 1
2 803 920 Al17 803 0
(B LMERBASE) ~507(508)— |






oo o o =
1% B R
L T ;,ﬁ/a\ 5 % s =
oo P [ e o (e TOROT u | FEHE] S i
OSH NG (T-H) (T-1) (T-H) (T-1) (T-1) (T-1)
B %
% B
Flr oo EXERZRE 7N
S I 7 9 134 134 134 HPEEX 2= 5 2 A
5
B 9 134 134 134
o |2 %
% B
Flz oo MEXERZRE TN
BB T 9 134 134 134 HPFEIX = 5- 2 A
5
3 9 134 134 134
E %
|
% B
Z 0o
g&% LI 4 0 0 0 0
B 0 0 0 0

(B R PE XER IR

=509 (510) -






